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L HEIE 1/2% (1.893+1. 992) X 3. 50 = 6. 799 6.8 m2




O v

TR T % 220 e )
e Eg =
YA 1 #e HAT - o
EiEa 27 U— | 18-5-40BB m3 1.98
BlLarrzU—F 18-8-40BB m3 0.99

FLE R m2 9.9




Ny N =N 2 Y i i
TR T B & H &5 L 0F

4 R 7 B E2V o &
k=27 U— b HNR— F T XY
(18-5-40BB) 9.9%0. 20 1. 980 1.98 m3
BLar s U—F 9.9%0.10 0. 990 0.99 m3
(18-8-40BB)
SRR 9. 900 9.9 m2




S |

- =
) A BERE (4) % B K 1. 02 v
e Eg =
YA 1 #e HAT - o
a7 J—h 18-8-40BB m3 5. 59
v} s m2 16.58
2 % L Pt e Eim2 3.2
BlLarrzU—F 18-8-40BB m3 0. 87
[A] |- p m2 0. 84
FEE R m2 8.7




R (4) o OB i OHE &

104 v
v R 3 B 7 e &
H B B+200 SL Co Pa
2.69 [1.880 |2.080 [3.069 |3.067 |5.759
oy Y—h 3. 067 X 4. 00 = 12.268
(18-8-40BB) —(1/2% (0. 56+1. 71) X2. 10X 2. 80) =  -6.674
B = 5.594 5.59 m3
v} s 5. 759 X 4. 00 = 23.036
—-(2.10+2. 10 X 1. 141) X 2. 80 = -12.589
Vi A A 3. 067+3. 067 = 6.134
E = 16.581 16.58 m2
Ju 2.69 X (0. 60+0. 60) = 3.228 3.2 #m2
(MEHE 25
BL=ar 2z U—Fh 2.080X0.10X4. 20 = 0.874 0.87 m3
(18-8-40BB)
7] -7 P 0.10X2X4. 20 = 0. 840 0.84 m2
FLmEEIE 2. 080 4. 20 = 8.736 8.7 m2




S |

- =
) A ERE (5) % B K 1. 02 v
e Xy &
4 R H s BT i C:d
a7 Y —F 18-8-40BB m3 12.38
v} s m2 23.58
2 % L Pt e Eim2 11.9
BlLarrzU—F 18-8-40BB m3 0.92
[A] |- p m2 0. 88
FEE R m2 9.2




= ) A HERE (5) W & B H &
1.oxY D
v R 3 B 7 e &
H B B+200 SL Co Pa
2.69 [1.880 |2.080 [3.069 |3.067 |5.759
oy Y—h 3. 067X 4. 42 = 13.556
(18-8-40BB) —(1/2% (1. 16+1. 63) X 0. 86X0. 96) = -1.152
~(72/4%X0.254"2X1/2% (0. 51+0. 65)) = -0.029
i = 12.375 12.38  m3
o e 5. 759X 4. 42 = 25.455
—((0. 86+0. 86 < 1. 141) X 0. 96) = -1.768
—(7/4%0.254"2X (1. 000+1. 141)) = -0.108
7 = 23.579 23.58  m2
2 L 2.69X4. 42 = 11.890 11.9 #fm2
(Fefi e 52
BWLaryrzy—Fh 2.08%0. 10X 4. 42 = 0.919 0.92 m3
(18-8-40BB)
[G] AP 0.10X2X4. 42 = 0.884 0.88 m2
FEHHEIE 2.08X 4. 42 = 9.194 9.2 m2




S |

- =
) A BERE (6) % B K 1. 02 v
e Eg =
YA 1 #e HAT - o
a7 J—h 18-8-40BB m3 9.33
v} s m2 18. 84
2 % L Pt e Eim2 8.6
BlLarrzU—F 18-8-40BB m3 0.73
[A] |- p m2 0.77
FEE R m2 7.3




= /) 2 HERE (6) W & B H &
1.oxY D
v PR &t " =Y H 5
H B B+200 SL Co Pa
1.96 |1.478 |1.678 |2.236 | 1.840 |4.196
2.69 |1.880 |2.080 |3.069 |3.067 |5.759
oy Y—h 1/2X (1. 840+3. 067) X 3. 86 = 9. 471
(18-8-40BB) —(7/4%X0.47°2X0.81) = -0.141
B = 9. 330 9.33  m3
i e 1/2X (4.196+5. 759) X 3. 86 = 19.213
~(7/4%X0.47°2X (1.000+1. 141)) = -0.371
7 =  18.842 18.84 m2
2 % L H=2. 00mPL | % kb4
(Pefi e 52 1/2X (2. 00+2. 69) X 3. 65 = 8. 559 8.6 Hm2
BL=ar 2z U—Fh 1/2X% (1. 678+2. 080) X 0. 10X 3. 86 = 0.725 0.73 m3
(18-8-40BB)
[A] [ p 0.10X2X3.86 = 0.772 0.77 m2
L HEIE 1/2% (1. 678+2. 080) X 3. 86 = 7.253 7.3 m2




. -
£ == x 1. 0R:24

e Eg iy
i ¥ BT i o
a7 )—Fh 18-5-40BB m3 4,50
m2 19. 00
Pefll 2 5 Eim2 18.0
m2 3.7
a7 J—F 18-5-40BB m3 1.66

m2 8.5




ETTN I M =, FAe i
ud O Sl 10 b
v PR H " =Y H =8
ayyY—k (1/2% (1. 00+2. 00) X 1. 00+2. 00 X 0. 40) X 0. 50 = L1150
(18-5-40BB) 1/2% (5. 40+3. 40) X 1. 00X 0. 50 = 2.200
(1/2% (1. 00+2. 00) X 1. 00+2. 00X 0. 40) X 0. 50 = 1. 150
B = 4. 500 4.50 m3
I L (1/2X (1. 00+2. 00) X 1. 00+2. 00 X 0. 40) X 2 = 4.600
1/2% (5. 40+3. 40) X 1. 00 X 2 = 8.800
(1/2% (1. 00+2. 00) X 1. 00+2. 00 X 0. 40) X 2 = 4.600
1.00X 0. 50X 2 = 1. 000
7 = 19.000 19.00 m2
2 Y L (1/2X (1. 004+2. 00) X 1. 00+2. 00 X 0. 40) X 2 = 4.600
(FkL 2 35 1/2% (5. 40+3. 40) X 1. 00X 2 = 8. 800
(1/2X (1. 00+2. 00) X 1. 00+2. 00 X 0. 40) X 2 = 4.600
7 = 18.000 18.0 Hfm2
A& IE (1. 980+3. 400+1. 980) X 0. 50 = 3. 680 3.7 m2
Bft
a7 Y—F 1/2% (1.980+2. 063) X 0. 20X 1. 50X 2 = 1.213
(18-5-40BB) 1/2% (1. 400+1. 566) X 0. 20 X 1. 50 = 0.445
7 = 1. 658 1.66 m3
A IE (2. 063+1. 566+2. 063) X 1. 50 = 8.538 8.5 m2




S |

- =
iR T % B * )
e Eg =
YA 1 #e HAT - o
EiEa 27 U— | 18-5-40BB m3 2. 66
BlLarrzU—F 18-8-40BB m3 1.33

FLE R m2 13.3




Ny N =, 2 Yo i
R T ¥ & G H 5 L o3t

S B X o B
gk 7 U — b T NR— F T LY
(18-5-40BB) 13.3%0. 20 2. 660 2.66 m3
BiL=ar27U—F 13.3X0. 10 1. 330 1.33 m3
(18-8-40BB)
SmHEIE 13. 300 13.3  m2




Fa ]

%+ T % H e 1034
A mo o |w % = W=
KD +w m3 62.9
R L m3 35. 0

P RETEIE L3 m2 2.0




Fa ]

Mz =N = Yo i
B2+ T Boom A HO& 1.0 b
v PR i " =y H 5

7 ) I R Wr | EWimE|  fhE
(+w) +0. 00 12.2

+4. 05 4,05 15.7 13.95 56. 5

EBR 0. 00 10.9 13.30 0.0

+4. 55 0. 50 10.9 10. 90 5.5

EBR 0. 00 0.6 5.75 0.0

+6. 05 1.50 0.6 0. 60 0.9

& 6.05 62.9 62.9 m3
R L T il Wrmm | EWmE|  EhE

+0. 00 8.5

+4. 05 4. 05 8.0 8.25 33.4

GG 0. 00 2.6 5.30 0.0

+4. 55 0. 50 2.6 2. 60 1.3

GG 0. 00 0.2 1. 40 0.0

+6. 05 1.50 0.2 0. 20 0.3

= 6. 05 35.0 35.0 m3
A RN TIELy A I iEgl i Wrmm | EHWmE|  ERE

+0. 00 0.0

+4. 05 4.05 0.0 0. 00 0.0

EER 0. 00 1.0 0. 50 0.0

+4. 55 0. 50 1.0 1. 00 0.5

EER 0. 00 1.0 1. 00 0.0

+6. 05 1.50 1.0 1. 00 1.5

2 6.05 2.0 2.0 m2




BB AR E R T



B A e T

% F *
ol o B N I .
(LL3) (L14) (L ~ULB) HAfL & 1
i T B L (1-A) AT




BT (1-A) ¥ & R &
4, B | WA EVVAE i
%N A A B
L | No. 30 +13.7 f& A 1.0
& 3 (AT 1.0




Y& T (1-0) O & B B E 1. OFS Y v

2d PR 7 B 2V =

B
H.

W TIXm LD = 1.81 1.81 m3

& VLT W T &L 0 = 1. 15 1.15 m2




BEYHMET



HEYRE T % i 7
? %/\“/V%J) (ﬁ/‘ IH}//\“/I/}DZLIJ) (% /Iﬁh/f\“/ljcf) AL et fii

g T a7 J— | m3 37
B 7 U — | m3 37

Comk it - Aoy HEfp m3 37

i G m3 37

il AL R B W t=15cmLh F m 9

A A AP t=5cm m2 44

Asie il - W5y m3 2

e H—FRL— Gr-C-4E m 19
FE AR T - Ay Eiiuz) t 0.3




T O e
= s U — b | e
NO. 30+9.0 ~ NO.30+12.5 (R) L=

V= {1/2X (0. 40+1. 40) X 2. 00} X 4.0

B (FBHE1AY Y A=1.658m2 L=5.2m)
NO. 30+8.0 (R) fEH2kk

V= (1.628X%X5.2) X2X1.0

HP ¢ 150  (A=0. 01m2)

NO. 28+16. 0 (L)

NO. 30+8.0 (L)

V=10.01X9.7

HP ¢ 600  (A=0. 26m2)
NO. 30+3.0 (R)

V=10.26X4.0

VT (200)  (A=0. 02m2)
NO.30+1.9 (R)

V=10.02X5.5

N

L

7.20

16. 93

1. 04




B T b = N R NG
R H A = g 5=
==
NO. 30+5.0 (R) = 7.5
V=0.20X (1.98+1. 40+1.98) X 7.5 8.04
7K (1)
NO. 30+2. 0 (R) N= 1
V= (1.20X1. 20X 1. 15-0. 90 X 0. 90 X 1. 00) X 1 0.85
A
NO. 30+10.5 (R) = 3.0
V=10.35X2.50X3.0 2.63
it 36. 90 37 m3




B T b = N R NG
4 R H B = g 5=
P 7 U— | LAUBEEE (A=0. 14m2)
NO. 30+61. 0 ~ NO.30+12.5 (R) L 4,
V=0.14X4.0 0. 56
LAIZKE  (A=0. 57m2)
NO. 28 ~ NO. 30+9. 0 L= 48.
V=0.57X48.0 27.36
&% (BRRR A=1.680m2 L=5.2m)
NO. 30+8.0 (R) N 1.
V=1.680X5.2X1 8.74
36. 66 37 m3
Cor%iE M « ALy 36.90 37 m3
(JEA)
Cor%iE M « ALy 36. 66 37 m3
(L)
A AL R Gt WEIL X LD
(t=15cmLL ) 4,344, 3 8. 60 9 m
e WEIL X LD
(t=5cm) 43.8 43. 80 44 m2
AsTBOER - ALy 43.8%0. 05 2.19 2 m3




ft = LT ¥ & i B I )
4 R 7 B = 'y =
H— KL — Gr-C-4F (16kg/m)
NO. 30+4.8 ~ NO.30+9.0 (R) 11.0
NO. 30+9. 0 ~ NO.30+12.5 8.0
7t 19.0 19 m
0. 30 0.3 t

FEAN R - ALy
€2 Zp)

0.016X19.0




